
Clue 1 - Calculate M for Murder. 

 

 

 

 

In this cipher, A=1, B=2 etc.  Can you work out the value of m in each of these? 
 

   1)    m + 10 = 30 

   2)   3m = 24 

   3)   m + 14 = 19 

   4)    m – 4 = 12 

   5)    m + 10 = 25 

   6)    4m = 36 

   7)     m – 11 = 8 

   8)     m + 6 = 21 

   9)     m ÷ 2 =7 

  10)    8m = 40 

  11)    m ÷ 3 = 6 

  12)    2m + 4 = 20 

  13)    10m = 10 

  14)    m + 6 = 25 

  15)   2m + 2 = 30 

  16)    m ÷ 5 = 3 

  17)    3m – 3 = 15 

  18) m ÷ 2 = 9 

  19) 20m = 100 

  20) 9m – 2 = 25 

  21) 3m + 7 = 40 

  22) 3m = 36 

  23) m – 5 = 0 

  24) m + 9 = 28 


